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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

1-  Lawyers for both parties will convene this morning to see if a ———- can be reached
before the matter reaches the court.
1) transparency 2) realism 3) settlement 4) discipline

2-  Later he —— — her daughter for having talked to her teacher impolitely.
1) prevented 2) scolded 3) restricted 4) neglected

3-  The volcano had remained -——----- for over a hundred years, and most people thought it
would never burst again.
1} dormant 2) drastic 3) severe 4) incidental

4-  You will certainly -—-—- your sprained ankle if you attempt to play basketball today.
1) coerce 2) avoid 3) discomfit 4) exacerbate

5- My medical condition is —------- and cannot be altered even with medication.
1) immutable 2) exhaustible 3) durable 4) demanding

6-  The comedian hoped his jokes would ——-—- a great deal of laughter from the audience.
1) pursue 2) explode 3) necessitate 4) elicit

7-  Because Kelly's parents were not affectionate, she grew up suffering from a/an -—--—-—-
of love and affection.

1) isolation 2) malfunction 3) violaton 4) deprivation

8- Although we may never completely -——----—- every disease on earth, it’s heartening to see
the progress medicine has made on so many froats,
1} overlook 2) eradicate 7 ) suspend 4) forecast

9-  As people mature, their -----—- skills become more developed, so they are capable of
solving more complex problems.
1) collective 2) sufficient 3) cogmitive 4) hypothetical

10- 1 wonder why Cathy spends so much time telling me -----—-- facts that have nothing to
do with me.
1) curious 2} identical 3) irrelevant 4) unequivocal

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

The job of theoretical physicists 1s twofold: first, to explain what our experimental
colleagues have discovered; and second, (11) -=---m-- phenomena that have not yet
(12) =mmmmmman . The history of scientific discovery shows that progress is achieved using
(13) ==—=mmm- A

Quantum theory. for example, was largely driven by empirical results, (14) --—----—-
Einstein’s general theory of relativity was (15) ------—-- speculation and thought
experiments, as well as advanced mathematics.

11- 1) to predict 2) predicting 3) it 1s to predict 4) predict
12- 1) found 2} to be found 3) been found 4) be found
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13- 1) both the methods 2) both methods 3) both of methods  4) methods both
14- 1) as though 2) in that 3) so that 4) whereas
15- 1) a product of 2) produced 3) production of 4) producing

PART C: Reading Comprehension

Direcfions: Read the following three passages and answer the questions by choosing the best
choice (1}, {2), (3). or {4). Then mark the correct cheice on your answer sheet,

PASSAGE 1:

In 1988, a method of using water to control floods was discovered. This was
accomplished by containing 2 parallel tubes within a third outer tube. When filled. this
structure formed a non-rolling wall of water that can control 80 percent of its height in
external water depth, with dry ground behind it. Eight foot tall water filled barriers
were used to swround Fort Calhoun Nuclear Generating Station during the 2011
Missouri River Flooding. Instead of trucking in sandbag material for a flood, stacking
it, then trucking it out to a hazmat disposal site, flood contro! can be accomplished by
using the on site water. However. these are not fool proof. A 8 feet (2.4 m) high 2,000
feet (610 m) long water filled rubber flood berm that surrounded portions of the plant
was punctured by a skid-steer loader and it collapsed flooding a portion of the facility.
In 1999, a group of Norwegian Engineers founded and patented Aquafence. A
transportable, removable, and reusable flood barrier which uses the water's weight
agamst itself. In 2013, AquaFence was awarded the highest level USA ANSI
Certification after more than one vear of tesiing of the system by US ARMY Corps of
Engineers as well as parts testing and production review by FM Global and works for
both commercial and municipal custoiners spanning across the United States of
America, Europe and Asia. In the US alone, AquaFence removable flood panels are
protecting more than $10 billion worth of real estate as well as cities and public

utilities.
16- The passage is primarily intended (o present i ———-——- .
1} definition 2} physical description
3) function description 4) classification
17-  The word "it" in paragraph 1 refers (o ——-—----— ;
1) structure 2) wall of water
3) ground 4) external water depth

18- What does the author mean by "these are not fool proof” (paragraph 1)?

1) Foolish people are likely to misuse these.

2) These are designed for use by ordinary people.

3) People with insufficient expertise should not use these.

4) There 15 no guarantee that mistakes would not occur when these are used.
19-  According to paragraph 1, what led to flooding a portion of the facility?

1) Collapse of the same portion

2) Damage to a skid-steer loader

3) Collapse of the rubber flood berm

4) That portion punctured by a skid-steer loader
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20-

21-

22-

23-

According to the passage, all of the following are true about Aquafence EXECPT

1) it was originally introduced by some Norwegian Engineers

2}t 1s still to be improved before it could be put to actual use

3) it passed the testing by US ARMY Corps of Engineers with flying colors

4) its use is not restricted to people spanning across the United States of America

LASSAGE 2:

When a cnisis will undoubtedly cause a significant disruption to an organization, a
business continuity plan can help minimize the disruption. First, one must identify the
critical functions and processes that are necessary to keep the organization running.
This part of the planning should be conducted in the earliest stages, and 15 part of a
business impact analysis phase that will signpost “How much does the organization
stand to lose?”

Each critical function and/or process must have its own contingency plan i the
event that one of the functions/processes ceases or fails, then the business/organization
is more resilient, which m itself provides a mechanism to lessen the possibility of
having to invoke recovery plans. Testing these contingency plans by rehearsing the
required actions in a simulation will allow those involved to become more acutely
aware of the possibility of a crisis. As a result, and in the event of an actual crisis, the
team members will act more quickly and effectively.

A note of caution when planning training scenarios, all too often simulations can
lack ingenuity, an appropriate level of realism and as a consequence potentially lose
their training value. This part can be improved by employing external exercise
designers who are not part of the organizational culture and are able to test an
organization's response to crisis, in order to bring about a crisis of confidence for those
who manage vital systems.

Following a simulation exercise, a thorough and systematic debriefing must be
conducted as a key component of any crisis simulation. The purpose of this 1s to create
a link and draw lessons from the reality of the simulated representation and the reality
of the real world

Which of the following best describes the organization of the passage?

1) A highly controversial definition is presented and qualified.

2) A model 1s stated and then the steps to actualize it are mentioned.

3} An assertion 15 made and several examples are provided to illustrate it.

4) An explanation for a phenomenon is presented and it is later disputed in the light of
new evidence.

What is the best title for the passage?”

1) A Simulation or a Reality 2) Causes of Busmess Disruptions

3) Business Continuity Plan 4) How to Prevent Crises

According to the passage, a contingency plan -------—----- .

1) can make recourse to a recovery plan unnecessary

2)1s more applicable if a business is already resilient enough

3)1s designed only after one of the functions/processes ceases or fails

4) should be one in number to be able to address various functions or processes
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24-

25-

26-

28-

The word "those" in p:lr:ﬂgr:-l.ph 2 most probably refers to some ————-- -

1) plans 2) actions 3) crises 4) pmplc

According to paragraph 3, when planning training scemarios, an organization can
approximate what happens in the real world by ——--—--——- .

1) explaining the consequences of a crisis to the trainees

2) estimating the functionality of an organization's vital systems

3) having some outsiders take care of the training exercises

4) making those in the organization observe what others do in times of crisis

What does "this" in paragraph 4 refer to?

1) simulation exercise 2) cnisis simulation
3) component 4) debriefing
EASSAGE 3:

Preventative measures are employed in areas where avalanches pose a significant
threat to people. such as ski resorts. mountain towns, roads. and railways. There are
several ways to prevent avalanches and lessen their power and destruction: active
preventative measures reduce the hkelihood and size of avalanches by disrupting the
structure of the snowpack, while passive measures reinforce and stabilize the
snowpack mn situ. The simplest active measure 1s repeatedly traveling on a snowpack
as snow accumulates; this can be by means of boot-packing. ski-cutting, or machine
grooming. Explosives are used extensively to prevent avalanches, by triggering
smaller avalanches that break down instabilitics in the snowpack. and removing
overburden that can result in larger avalanches. Explosive charges are delivered by a
number of methods including hand-tossed chaiges, helicopter-dropped bombs, Gazex
concussion lines, and ballistic projectiles launched by air cannons and artillery.
Passive preventive systems such as snow_fences and light walls can be used to direct
the placement of snow. Snow builds up around the fence, especially the side that faces
the prevailing winds. Downwind of the fence, snow buildup is lessened. This is caused
by the loss of snow at the fence that would have been deposited and the pickup of the
snow that is already there by the wind. which was depleted of snow at the fence. When
there 15 a sufficient density of trees, they can greatly reduce the strength of avalanches.
They hold snow in place and when there is an avalanche, the impact of the snow
agaimnst the trees slows it down. Trees can either be planted or they can be conserved,
such as in the building of a ski resort, to reduce the strength of avalanches.

What does the passage mainly discuss?

1) Diversity of threats posed by avalanches

2) Different types of avalanche formation

3) Ways to counteract avalanches

4} Areas most vulnerable to avalanche damage

The passage states that ski-cutting -—------- -,

1} 1s as effective as both boot-packing and machine grooming

2) should be used when the use of explosives does make sense

3) has to be employed when an avalanche cannot be stopped via a passive approach

4) is a simple active preventive measure that can be used to reinforce and stabilize the
snowpack 1 situ
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29-  Which of the following is a word for which the passage has cited NO function?

1) Explosives 2) Overburden

3) Fence 4) Ski resort
30-  What does the word "impact" in line 19 mean?

1) influence 2) collision

3) direction 4) obstacle
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